
ASSEMBLY INSTRUCTIONS

fo r

BEETLE DINING CHAIRC A R E  I N S T R U C T I O N S

Daily cleaning can be done by wiping the base 
and plastic shell with a clean dry cloth. Should the 
surface need more attention this can be cleaned 
with water and a l ight detergent or soap applied 
with a damp cloth. Wipe after with a clean dry 

cloth. Avoid any abrasive materials.

04-20-003-01 Assembly instructions Beetle Dining Chair.

For enquiries contact GUBI A/S - CVR: 17940384 
Klubiensvej 7-9. 2150 Nordhavn. Copenhagen, Denmark 

T +45 69 15 60 60  –  order@gubi.dk

GUBI.COM



ASSEMBLY INSTRUCTIONS

B E ET L E  D I N I NG  C H A I RCONTENTS.

x1x4 x4 x16

1.

3. 4.

2.

Frihavnen Klubiensvej 7-9 
Pakhus 53
DK 2150 Copenhagen
Phone: +45 33 32 63 68
Fax: +45 33 32 6069
www.gubi.com

4pcs /chair
1pcs/chair

Can you remove 
the line on the leg?

Can you remove the line on the leg?

Umbraco key

1pcs/chair

Turn the chair upside down
Finished chair

Place the shell upside down on a table
Cover the surface with a blanket or similar, to avoid scratches on the plastic shell

Beetle asmb instructionDWG NO.:

MATERIAL:

INITIALS:

PAPER SIZE:

DESCRIPTION:

PROPERTY AND CONFIDENTIAL INFORMATION: This design may not be distributed or reproduced without the written permission of GUBI A/S

SHEET 1 OF 2A3

IF NOTHING ELSE SPECIFIED MEASUREMENTS IN MM
APPROVED BY:DATE:

DS/ISO 2768-1 m
GENERAL TOLERANCES:

1:10
SCALE:

M6x12 black Steel~010.9 // ISO 7380-2
REVISION DATE:

REVISION: WEIGHT [g]

0.52

PRODUCT:

Frihavnen Klubiensvej 7-9 
Pakhus 53
DK 2150 Copenhagen
Phone: +45 33 32 63 68
Fax: +45 33 32 6069
www.gubi.com

4pcs /chair
1pcs/chair

Can you remove 
the line on the leg?

Can you remove the line on the leg?

Umbraco key

1pcs/chair

Turn the chair upside down
Finished chair

Place the shell upside down on a table
Cover the surface with a blanket or similar, to avoid scratches on the plastic shell

Beetle asmb instructionDWG NO.:

MATERIAL:

INITIALS:

PAPER SIZE:

DESCRIPTION:

PROPERTY AND CONFIDENTIAL INFORMATION: This design may not be distributed or reproduced without the written permission of GUBI A/S

SHEET 1 OF 2A3

IF NOTHING ELSE SPECIFIED MEASUREMENTS IN MM
APPROVED BY:DATE:

DS/ISO 2768-1 m
GENERAL TOLERANCES:

1:10
SCALE:

M6x12 black Steel~010.9 // ISO 7380-2
REVISION DATE:

REVISION: WEIGHT [g]

0.52

PRODUCT: Frihavnen Klubiensvej 7-9 
Pakhus 53
DK 2150 Copenhagen
Phone: +45 33 32 63 68
Fax: +45 33 32 6069
www.gubi.com

4pcs /chair
1pcs/chair

Can you remove 
the line on the leg?

Can you remove the line on the leg?

Umbraco key

1pcs/chair

Turn the chair upside down
Finished chair

Place the shell upside down on a table
Cover the surface with a blanket or similar, to avoid scratches on the plastic shell

Beetle asmb instructionDWG NO.:

MATERIAL:

INITIALS:

PAPER SIZE:

DESCRIPTION:

PROPERTY AND CONFIDENTIAL INFORMATION: This design may not be distributed or reproduced without the written permission of GUBI A/S

SHEET 1 OF 2A3

IF NOTHING ELSE SPECIFIED MEASUREMENTS IN MM
APPROVED BY:DATE:

DS/ISO 2768-1 m
GENERAL TOLERANCES:

1:10
SCALE:

M6x12 black Steel~010.9 // ISO 7380-2
REVISION DATE:

REVISION: WEIGHT [g]

0.52

PRODUCT:

Frih
avnen Klubiensvej 7-9 

Pakhus 5
3

DK 2150 Copenhagen

Phone: +45 33 32 63 68

Fax: +
45 33 32 6069

www.gubi.com

4pcs /c
hair

1pcs/c
hair

Can you re
move 

the lin
e on th

e leg?

Can you re
move th

e lin
e on th

e leg?

Umbraco ke
y

1pcs/c
hair

Turn th
e chair u

psid
e down

Fin
ish

ed chair

Place th
e sh

ell u
psid

e down on a ta
ble

Cover th
e su

rfa
ce with a blanke

t o
r si

milar, t
o avoid sc

ratches o
n th

e plastic
 sh

ell Beetle
 asmb instru

ctio
n

DWG NO.:

MATERIAL:

INITIA
LS:

PAPER SIZ
E:

DESC
RIPTIO

N:

PROPERTY AND CONFID
ENTIA

L IN
FO

RMATIO
N: Th

is d
esig

n m
ay not b

e distr
ibuted or re

produced without th
e writt

en perm
issi

on of G
UBI A

/S

SHEET 1 OF 2

A3
IF NOTHING ELSE SPECIFIED MEASUREMENTS IN

 MM

APPROVED BY:

DATE:

DS/IS
O 2768-1 m

GENERAL TO
LERANCES:

1:10SC
ALE:

M6x12 black S
teel~010.9 // 

ISO
 7380-2

REVISIO
N DATE:

REVISIO
N:

WEIGHT [g
] 0.52

PRODUCT:

Frihavnen Klubiensvej 7-9 
Pakhus 53
DK 2150 Copenhagen
Phone: +45 33 32 63 68
Fax: +45 33 32 6069
www.gubi.com

4pcs /chair
1pcs/chair

Can you remove 
the line on the leg?

Can you remove the line on the leg?

Umbraco key

1pcs/chair

Turn the chair upside down
Finished chair

Place the shell upside down on a table
Cover the surface with a blanket or similar, to avoid scratches on the plastic shell

Beetle asmb instructionDWG NO.:

MATERIAL:

INITIALS:

PAPER SIZE:

DESCRIPTION:

PROPERTY AND CONFIDENTIAL INFORMATION: This design may not be distributed or reproduced without the written permission of GUBI A/S

SHEET 1 OF 2A3

IF NOTHING ELSE SPECIFIED MEASUREMENTS IN MM
APPROVED BY:DATE:

DS/ISO 2768-1 m
GENERAL TOLERANCES:

1:10
SCALE:

M6x12 black Steel~010.9 // ISO 7380-2
REVISION DATE:

REVISION: WEIGHT [g]

0.52

PRODUCT:

Cover a surface with a blanket or similar, to avoid scratches on the plastic shell. 
Place the shell upside down on the surface and hold steadily as it may fall.

Place the screws through the holes in the base 
and into the threaded holes in the shell.

Finished chair.

Tighten the screws, until firmly mounted. Do not 
over tighten as this may damage the shell.

Place the base on top of the shell and make sure the holes 
are aligned. If the holes do not align, turn the base around.

Place the screws in the the holes in the frame
and the threaded holes in the frame

Tighten the screws, until the screw 
is firmly mounted
Do not use too much force

Place the frame on top 
of the shell and make sure the
holes are aligned.
If the holes do not fit, turn the frames around

Arrow to show 
how to fasten the screw.

Place the screws in the the holes in the frame
and the threaded holes in the frame

Tighten the screws, until the screw 
is firmly mounted
Do not use too much force

Place the frame on top 
of the shell and make sure the
holes are aligned.
If the holes do not fit, turn the frames around

Arrow to show 
how to fasten the screw.

Place the screws in the the holes in the frame
and the threaded holes in the frame

Tighten the screws, until the screw 
is firmly mounted
Do not use too much force

Place the frame on top 
of the shell and make sure the
holes are aligned.
If the holes do not fit, turn the frames around

Arrow to show 
how to fasten the screw.


